The last digit stays the same. The number of exchanges is different.

Each addition invalves at least one exchange.
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Wednesday Answers

12365 |a.017| 6,618

Rosle has written the nurmnbers the wrong way round and then found the difference between

the digits in each column.
6 Whitney has found the difference between the digits in each column, instead of taking the
second digit from the first digit, exchanging where necessary.

a) 9
b 3273
¢) 5925
7 Wark out 15,923 - 10,000 and add 2
Wark out 15,925 - 10,000
Count up from 9998 to 15,923

a) 19415
B b) 75,305

multiple possible answers, eg:
5,189 and 8,150
5,195 and 8195
8,159 and 9518
8,591 and 9,815
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Thursday Answers

a) 44
1 h) 82

c)] M
2 1,300

MNo.

3 349 +199 + 479 = 1,027 and 1,027 < 1,000

the Websters

4 £60
5 2500
Jack has 500 stickers.
6 Amir has 150 stickers.
Whitney has 250 stickers.
7 2642 and 3,842

The total of the two numbers must be 7,440
e.g The two numbers could be 2,000 and 5,440
One of the numbers cannot be greater than 6,440




Friday Answers
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b) 4604
2,354 |E| 1,500
) 1057001
d) 555555
| 8,000,500 - &,100,000 200,000
| 1,250,000 + 900,000 one millian
| douible 600,000 2 7 milkon
| 123,999 + 878 2 million
For each calculation, we need to decide what to round to




